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The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.
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1. Choose the appropriate answers from the
choices given against each : 1x10=10

e R« o% Teats! Ak Tfe

(a) Providing information to top
management is —————  of
financial management.
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(b)

At RIS TR O @A @0 RER
IR GRS |

(iii) The use of fixed income

securities to increase the EPS.

(i) recurring function

cAReaf EPS P e T e dfvefer
(i) non-recurring function

St I (iv) The use of equity to increase the
(iii) routine function EPS.

St EPS 3GIR9 Mt 3530 Q9|
) ;dvisory ﬂ:;ﬁon (c) Capital budgeting is a part of

Financial leverage refers to which of E
the following ?

& Fremece fxe cemst 3o 2

(i) The use of debt to pay dividend.
oI o397 i3 ol IR |

@ The wuse of fixed income

securities to meet deficiency in
dividend payment.

W%‘iﬁm‘i@ﬂﬁ??ﬁcﬁmﬁ
e dfegier g
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(i) investment decision

RfAciet Prars

(ii) working capital management

TS e AR

(iii) capital structure

oL s

(iv) dividend decision °

TFeoie R Farg
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(d)

(e)

Under Net Present Value method, a

project is accepted when present
value (PV) of outflows is

present value (PV) of inflows.

I IETN &7 (Net Present Value)
NS BT oI et 31 7 afout A9 S
WRATR TSI o Tt 47 Hjof TEA
Tl |

(i) more than

Qb =

(ii) less than
Rt

(i) equal to

(iv)] None of the above
A O e

“When  profitabijjty,

index exceeds

rejected.”
(State True or False)

LR N ——

1)

(g)

Optimum Capital Structure refers to
the debt-equity mix where —

YIS SR AR I e A9 MR (R
s JroRl @ I© —

(i) debt is higher than equity
A9 AT S 7

(i) equity is higher than debt
A YL ST T

(iti) the firm’s cost of caﬁifal is
minimum and value of the firm
is maximum

AP TEER I TR =

(iv) All of the above

@oTq WBIREB

-

The higher the degree of financial
leverage, the greater is the financial
risk.

(State True or False)

e Fromes wrie R ofies =
8 Remraics By 3o
(5% 7 99% GEHY 39 )
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(h) Which of the following is a part of (i)} Rs. 80,000

financial decision-making ? 80,000 5=
O (FINC! R fimrs o ?
frefraer e (iv) Rs. 20,000
(i) Investment decision 20,000 5
Rivct Prare |
.. . ) Earning per share (EPS) is calculated
() Financial decision o as : &P (P
Réw Frare e T aE EPS fde wa1 = ¢
- {iij) Dividend decision ‘ (i) (Earning available to preferred
B and equity shareholders)
™ 1 Frare ‘ ( Number of preferred and equity
(iv)  All of the above | shares outstanding)
) W‘W . | (TR =ik 2330 g
| iy =)
() futt)‘rent assets are.twice the current (TAfEFIE Wi 23 weeves
1abilities, If the working Capital is \ RN FARCNES)

Rs. 20,000, current assets would b€
et e tfere T 71? adq =1 Tfd (i) (Earnings available to equity

i Iﬁi' TR 20,000 By X¥, (OTF O shareholders )
. 2 ‘ | ( Number of equity shares
) Rs. 10,009 I outstanding )
10
/000 T | (333 SR elisl @)
.o \
(ii) Rs. 40,009 | (232 wee MYt eAReES)
40,000 Bz
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(iii) (Profit available to shareholders) (d) -State the sources of finance.

(Market price per share) et TP T 9
(T 4T sl =) | ‘(e) State the meaning of accounting
(ot S @i To17) rate of return. '

TAEe Z5eE (accounting) TR <l
G

(iv) (Earnings to shareholders)

it

(Numb : ‘
I:n.omm:er of shgres issued to 3. Answer any four of the following
ers and shareholders) questions in about 150 words each :
(SRR 5x4=20
e e A ) R A 5Ifa5 e SO AW 150 Bt
wwmﬂmﬁmww | v (S S ¢
: (a) State the limitations of financial
2. Answer the follow; ' t management.
in i in aboul
50 words each | g q?estlons m2><5=10 8 SARGERR ﬁﬂﬁww i
50 i *3 foets e ;
_ et o Wwﬁm (b) Discuss the use of Internal Rate of
(@) What is cost of capital ? Return (IRR).
= .
TEwR . Trees wiTE T A AR AR AW GRE
(b) Define : TG B |
NP Operatmg Leverage’.
N & o | ‘ (c) What is stock dividend ? Why is it
() What is capi, structure ? issued ?
re
4
T MRR, % e & ¢ T o Rie w31 =
|
4 (Sem-5/CBCS) COMRE S/RE 6,3 o 4{Sem-5/CBCS) COM RE 5/RE 6/G 9 Contd.




(d) Explain Profitability Index Method.

(e)

i)

Profitability Index simfS3 34 fa!

Ritika Ltd. issued equity shares of
Rs. 100 each at a premium of 20 per
cent. It paid a dividend of 20 per cent
to its shareholders. Calculate the
cost of equity capital if the annual
growth of dividend is 10 per cent.

R Bifise @ 100 et e srieet 20%

Rfate Gte Rfy w@) EreRE
TR TR 209 g0 Ay [oHd
I I AR oo 3 7w 10% B
O A R 7w Rt T

Or/ g3t

Dis
Wor:ilss five leading determinants of
Ng capital of a firm.

ﬁ%ﬁamam TR e AR
KLOENT] F—— ]

Write an
ote .
Structure. " OPtimum Capital

T N W o oy coren e
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4. Answer the following questions in about

600 words each : 10x4=40
%210 B vy oo frsre ARG axR T

(a) “Financial management is
concerned with the solution of
three major decisions — financing,
investment and dividend”. Explain
the statement highlighting
interrelationship amongst these

three decisions.

« BBt ~ARpEHI—RE, RECH e were
Fod ORI Fraiss smigeR Oite
e ” a8 R Praes srifs 7%

sep TR Sorare RIS g =41
| Oor /a4

Discuss the scope and functions of

financial management.

B8R AARvleNR PR W dERE I
=4 |
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(b) Discuss the various methods
.'followed in capital budgeting.

T WS oge =R Row s1aioTz
SIS o | |

Or / gt

Elaborate the determinants of capital
structure of a corporate entity.

tﬂﬁﬁﬂﬂmﬁﬂﬂ?ﬁﬂﬁﬁﬁwﬁaﬂ
3l ST IZEZ 2y

(c) Define Working Capital. What

considerations  are taken - into

account in estimating the amount of

working capital requirement in a

newly started company ?
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(d)

Or/q4d

Financial management can use
dividend policy to maximise the
wealth of equity holder. Explain with
suitable example.

AT SRHGIRT T JaT CFqe Rew
JARpIeE ot Sbl e FRI A
o TuimEAE I 14|

Explain the relationship between

operating leverage and financial
leverage.

AT T=oF I 91
Or /949y -

A firm is considering the purchase of
a machine. Two machines A and B
are available, each costing
Rs. 50,(500. In comparing the
profitability of those machines a
discount rate of 10% is to be used.
Earning after taxation are expected

to be as follows :

4 (Sem-5/CBCS) COM RE 5/RE 6/G 13 Contd.

A S



o1 AfSHNE 51 vy & waw REeAl
=) afSlt afSe= Rs. 50,000 FeIR 751
mAwawmnmm
S TGN ! Rl FEITS 10% T

(Discount rate) & (2| 39 Five AT
ALS I A WY weTe faqt 42997 2

Year | Machine A | Machine B P.V. Factor

Cash Flow | Cash Flow @10%
(in Rs.) (in Rs.)

1st 15,000 5,000 0.909
2nd 20,000 15,000 0.826
3rd 25,000 20,000 0.751
4th 15,000 30,000 0.683
5th 10,000 20,000 0.621

Evaluate the projects using payback
period and Net Present Value
method.

-3 ﬁﬁ‘l’@ s, NPV %ﬁ.’ﬁ W
T

—_—
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